Chapter 19 Problem III (+1)



Name _____________________

25. The standard entropies for some substances at 25(C are: 

KBrO3 = 149.2 J/K mol; KBr = 96.4 J/K mol; O2 = 205 J/K mol

Calculate the (S for: KBrO3 ( KBr + 3/2 O2
26. Based on the data in Table 19.2 (pg. 558), calculate (S for converting the monoclinic form of sulfur to the rhombic form.

27. (G0 = -16.64 kJ/mol for N2 + 3H2 ( 2NH3
Using the S0 values in Table 19.2, calculate (Hf0 for the formation of ammonia.

28. Using the data in Table 19.4 (pg. 563) to calculate the (G0 for each reaction. Is the reaction spontaneous or nonspontaneous?

a) Cl2 (g) + H2O(g) ( 2HCl(g) + ½ O2 (g)
b) 4NH3(g) + 7O2(g) ( 4NO2 (g) + 6H2O(g)
c) 2CO2(g) ( 2CO(g) + O2(g)
d) H2S(g) ( H2 (g) + S(s, rhombic)
30.  Calculate the change in entropy for these reactions.

a) CaCO3(s) ( CaO(s) + CO2 (g)
b) 2H2 (g) + O2 (g) ( 2H2O(l)
